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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
/ \
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1
» Anything times5 HAS to end in an either a5 or a0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in a0. Ex. 10x7=70 10x16=160 3.
\_ /
4,
1) 189x2=379 2) 10x633=6,330
5.
3) 5x856=4,280 4) 254x5=1,270 6.
7.
5) 5x186=930 6) 390 x 10 = 3,903
8.
7) 325x2=650 8) 5x493=2,469 9.
10.
9) 348x5=1,743 10) 2x894=1,788
11.
11) 10 x 961 = 9,610 12) 317x10=3,176 =
13.
13) 5x524=2,621 14) 757 x2=1515 1
15.
15) 347 x10=3,471 16) 10x813=28,130
16.
17) 10x 439=4,390 18) 690x2=1,381 17.
18.
19) 10 x 486 = 4,866 20) 5x858=4,290
19.
20.
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Determining Reasonable Answer Name. Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 no
 Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. YES
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10x 16=160 3. YES
\_ Y
4, y€Es
1) 189x2=379 2) 10x633=6,330
5, YES
3) 5x 856 =4,280 4) 254x5=1270 6. no
7. yes
5) 5x186=930 6) 390 x 10 = 3,903
8. no
7) 325x 2 =650 8) 5x 493 = 2,469 9. no
10. YES
9) 348x5=1,743 10) 2x894=1,788
11. YES
no
11) 10 x 961 = 9,610 12) 317x10=3176 2
13. no
13) 5x524=2,621 14) 757 x2=1515 1 no
15. no
15) 347 x10=3,471 16) 10x 813=8,130
16. YES
17) 10 x 439 = 4,390 18) 690x2=1,381 17. yes
18. no
19) 10 x 486 = 4,866 20) 5x 858 =4,290
19. no
20. YES
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